Answer the first 3 questions from Set B or Set C Work cut thess divisions:

3 38+2
4 42+3
Use the number line guide to help you P B85+5
and click on the image of the guide on the Set B 6 64+4
home learning sheet to watch a video guide. ¥ 45+3
8§ 54+3

: 9 Te+4
& Calculation at Chesswood _.

Number Line inchunks

CHESSWOOD

b6 +8 =

Use a number

What jumps of & can you make on
the number line towards 56?2
5 x 8 = 40 would be good!

Work out these divisions:

line to do this. 8 54+ 3

Now a jump of 2 x & = 16
would take you to 56. %) 75+5
= &8+4
5 x 8 =40 2x8=16 o Sot C & 95+3
Add5and 2 = 7. ‘ B 81+3
Vear 3 56 - 8 - 7 ) 9 97 + 4



https://youtu.be/e5QA54kAG1k
https://youtu.be/e5QA54kAG1k

